

**BID2019-78 REMOVAL OF "SPOILS" STOCKPILED AND STORED EXCAVATED MATERIALS FOR THE CITY OF TRENTON,
DEPARTMENT OF PUBLIC WORKS, WATER AND SEWER BID OPENING 11/19/19 AT 11:00AM**

BID2019-78 REMOVAL OF "SPOILS" STOCKPILED AND STORED EXCAVATED MATERIALS FOR THE CITY OF TRENTON, DEPARTMENT OF PUBLIC WORKS, WATER AND SEWER				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	BRITTON INDUSTRIES, INC.	J.VINCH & SONS, INC.	IRELAND CONSTRUCTION GROUP, LLC	ENTERPRISE NETWORK RESOLUTIONS CONTRACTING, LLC
ADDRESS	227 BAKERS BASIN ROAD	P.O. BOX 5464	140 LINE ROAD	325 TANSBORO ROAD
CITY, STATE, ZIP	LAWRENCEVILLE, NJ 08648	TRENTON, NJ 08638	WEST WINDSOR, NJ 08550	W. BERLIN, NJ 08009
CONTACT NAME	KIM FROST	GARY VINCH	MICHAEL IRELAND	THEODORE S. BUDZYNSKI, PRES/CEO
TELEPHONE	844-274-8866	609-883-3644	609-426-0525	609-567-0600
FAX	215-295-3333	609-883-9380	609-426-8976	609-567-0332
E-MAIL	KFROST@BRITTONINDUSTRIES.COM	JVINCHINC@AOL.COM	OFFICE@IRELANDCONSTRUCTION.NET	TEDB@ENRCONTRACTING.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A
NJ BUSINESS REGISTRATION CERTIFICATE	INCLUDED	REQUIRED FROM AWARDED VENDOR	INCLUDED	INCLUDED
NJ PUBLIC WORKS CONTRACTOR REGISTRATION	CERT.#671553 EXP. 03/24/2020	REQUIRED FROM AWARDED VENDOR	CERT.#703169 EXP. 07/25/2019 (EXPIRED)	CERT.#650517 EXP. 05/19/2020
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE REQUIRED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC	CERT.#37740 EXP. 11/15/2022	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	CERT.#40610 EXP. 09/15/2021
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
COMPLIANCE WITH 60-DAY CONTRACT EXTENSION	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES
THREE(3) REFERENCES EXCEPTIONS	INCLUDED	N/A	INCLUDED	INCLUDED
	NONE	NONE	NONE	YES SEE ATTACHED

**BID2019-78 REMOVAL OF "SPOILS" STOCKPILED AND STORED EXCAVATED MATERIALS FOR THE CITY OF TRENTON,
DEPARTMENT OF PUBLIC WORKS, WATER AND SEWER BID OPENING 11/19/19 AT 11:00AM**

TOTAL AMOUNT	SEE ATTACHED BREAK-DOWN OF UNIT PRICES			
FATAL FLAW	NONE	NONE	NONE	NONE

Britton Industries, Inc.

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

Submitted by:

Company Name:

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		\$17.88	\$125,160.
2	Asphalt and Concrete	Tons	4,000	\$19.88	\$79,520.00
Grand Total >>					\$204,680.00

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		\$17.88	\$125,160.00
Grand Total >>					\$125,160.00

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	4,000	\$19.88	\$79,520.00
Grand Total >>					\$79,520.00

J. Vinch &
Sons, Inc

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

Submitted by: Virginia A. Vinch

Company Name: J. Vinch & Sons, Inc.

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>\$18.77</u>	<u>\$131,390.00</u>
2	Asphalt and Concrete	Tons	4,000	<u>\$20.72</u>	<u>\$82,880.00</u>
Grand Total >>					<u>\$214,270.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>\$20.00</u>	<u>\$140,000.00</u>
Grand Total >>					<u>\$140,000.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	4,000	<u>\$23.00</u>	<u>\$92,000.00</u>
Grand Total >>					<u>\$92,000.00</u>

Ireland Construction

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

Submitted by: Michael Ireland

Company Name: Ireland Construction Group LLC

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>19.00</u>	<u>133,000.00</u>
2	Asphalt and Concrete	Tons	4,000	<u>21.00</u>	<u>84,000.00</u>
Grand Total >>					<u>217,000.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>20.50</u>	<u>143,500.00</u>
Grand Total >>					

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	4,000	<u>22.50</u>	<u>90,000.00</u>
Grand Total >>					<u>90,000.00</u>

ENRC

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

Submitted by: Theodore S. Budzynski Pres/CEO Company Name: Enterprise Network Resolutions

Contracting, LLC

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>36/ton</u>	<u>252,000.00</u>
2	Asphalt and Concrete	Tons	4,000	<u>31/ton</u>	<u>124,000.00</u>
Grand Total >>					<u>376,000.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil Tons	7,000		<u>36/ton</u>	<u>252,000.00</u>
Grand Total >>					<u>252,000.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	4,000	<u>31/ton</u>	<u>124,000.00</u>
Grand Total >>					<u>124,000.00</u>

**EXCEPTIONS
(IF NONE, PLEASE NOTE)**

ENR assumes the following:

1) Wet + Dry Soil meet Pennsylvania

DEP clean FuC standards.

2) Each mobilization will be to load out a minimum of 350 tons per event.